Division 12 shells divided by 2, equals 6
12 + 2 = 6 (There are six shells in each group)

Lrwerse
Cd.oi.ng it the .other w.ay around)

Multiplication 6 lots of 2 shells equal 12
6 x 2 =12 (There are 6 lots of 2)

1) Show anwlbpb.cabon( X ),oaiouia,ti,onu/sing,thj/swx,ag,ogbau/s.

Show a Adivision ( + )mmnwm_m_mgn{bm.

Top tip - circle the rowa or columns first, thatll show you the rumbers you are working with.




2)Show a mxu.upb,oab,on( X Jealculation using this .arroy of sweets.

3) Show ,a,rmdupuoatwn( X )WAMMMWJW,OJJ}M.

2eas

Show a Adivision ( + )mLcuLatLonWngjjz_m_mg,oaf}th

2eas



*Doesn’t alw.ays w.ork
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